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	1. 
	
Nolan told Hyacinth that she needed a  ---. (10)

	a.
	Backpack

	b.
	Buddie

	 c.
	Calculator

	d.
	seatbelt


	2. 
	
Hyacinth’s desk was moved because---. (26)

	a.
	kids kept bumping into her

	b.
	Ruby was unkind to her

	 c.
	she couldn’t see writing on th board

	d.
	She was talking


	3.
	Hyacinth lost her eraser when ---. (40)

	a.
	a boy threatened to tell on her

	b.
	she was doing dishes

	c.
	she was playing in the sandbox

	d.
	tripped and fell getting off the bus


	4.
	Nolan had a habit of saying things that---. (50)

	a.
	helped his sister in her schoolwork

	b.
	got Hyacinth in trouble

	 c.
	Upset Hyacinth

	d.
	showed how smart he was


	5.
	Hyacinth had to go to the principal’s office because she---. (63)

	a.
	didn’t stay where she was supposed to be

	b.
	kicked a boy

	 c.
	made her brother cry

	d.
	refused to finish her hand turkey


	Correct  Answers
	1 -c , 2 -d , 3 -a , 4 -c , 5 -b 
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	1. 
	
Mrs. Raju thought Hyacinth ate ants and grasshoppers because ---. (93)

	a.
	Hyacinth asked Lisa about eating them

	b.
	Hyacinth wrote a paper about eating them

	 c.
	Hyacinth said she had

	d.
	Hyacinth didn’t have enough to eat.


	2. 
	
Hyacinth ate weeds because she was---. (107)

	a.
	Doing what her brother Nolan told her 

	b.
	hungry 

	 c.
	mad pretending to be an Indian

	d.
	pretending to be an Indian


	3.
	Hyacinth gave everything she owned to her brother because she ---. (123)

	a.
	Afraid of him

	b.
	Loved him

	c.
	Needed his help

	d.
	Thought she was going to die


	4.
	Nolan does not like to wear his---. (136)

	a.
	Backpack because it was too heavy

	b.
	Ball cap because it was too tight

	 c.
	Snow clothes because it was too warm

	d.
	Shorts because he was too skinny


	5.
	Hyacinth ate glue because  she ---. (151)

	a.
	didn’t know it would upset her parents

	b.
	Didn’t know it was glue

	 c.
	Thought it would taste sweet

	d.
	Wanted  to stick cotton on her tongue.


	Correct  Answers
	1 -a , 2 -d , 3 -d , 4 -c , 5 -c 


